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Answer the following questions
SECTION A
(1X3= 3)
1. Find the missing term of the A.P: 8, _ , 12

2. For which values of k , the equation x2 + 2x +4 =0 has equal roots ?

3. Is the equation (x — 3)(x + 2) = 5 + x? a quadratic equation

SECTION B
(2X3 = 6)
4. If 3rd term of an AP is 3 and 5th term is 7 , find the first term and
common

difference of the AP.
5. Which term of the AP 3, 10, 17...... will be 84 more than its 13th term?

6. Solve the equation x2 + 4x -5 =0 by the method of completing the
square.

SECTION C
(3X3=9)
7. The angle of elevation of the top Q vertical tower PQ from a point X
on the
ground is 60°. At a point Y , 40m vertically above X , elevation is 450°.
Find the
height of the tower PQ.

8. Solve:L - L =1

x+4 x—=7 30

9. Construct the A ABC with sides AB=5cm , BC =6cm and ABC
=600.Construct
a AABIC! similar to A ABC such that the sides of A A BIC! are %4 of the



corresponding sides of A ABC.

SECTION D

(4X3=12)
10.From a window 60m above the ground of a house in a street , the angle
of

elevation and depression of the top and foot of another house on the
opposite

side street are 60° and 459 respectively. Show that the height of the
opposite

house is 60(1 ++/3)m

11. Mr. Rakesh is working as an admin in an Educational institution.

Find the
salary of Mr. Rakesh in the 10th and 16t year if his initial salary and

gets an
increment of Rs. 2000 per annum for his committed work. What value

is
depicted by the institution?

12. In a class test, the sum of the marks obtained by Raman in

mathematics and
science is 28. Had he got he got 3 more marks in mathematics and 4

marks
less in science , the product of marks obtained in the two subjects

would have
been 180. Find the marks obtained in the two subjects.
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1. Who was proclaimed “The King of United Italy”? (1/2)
2. Which king refused to accept democratic rule? (1/2)
3. What are Placer deposits ? (1)

4. Mention any two points for the role of government to make globalization
fair.(2)

5. Differentiate between Sectional Interest Group and Public Interest
Group. (3)

6. How do pressure groups and movement groups exert pressure on
politics? (3)

7. Explain German unification. (3)

8. Explain hazards of minimg . (3)
9. Why is it necessary to conserve minerals and energy resources ?  (3)
10. List the factors that promote globalization. (3)
11. Explain the negative effects of globalization. (3)

12. Why did nationalistic tension emerge in Balkans? Explain. (5)
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1. Complete the following ray diagram.
(1) /
%/— . ’.F -
2. Write the name of the following organic compound (1)
(a) CHs- CH- CH2-CHz3 (b) CH3-CH-CH2 -OH

3. Define speciation (1)
4. Name the type of mirror that is used as rear view mirror in vehicles. why is

it preferred ? (2)
5. Define the following a) pole , b) aperture. (2)

6. A convex lens of focal length 20cm is placed in contact with a concave lens of
focal
length 10cm. what is the focal length and power of the combination? (2)

7. Write the structural formula of the following compounds (2)
(a) 2,3, bromo ,chloro butane, (b)2 methyl pentane

8. i) Differentiate between ethanol and ethanoic acid (2)
ii) Give one reaction common to both ethanol and ethanoic acid

9. Write the chemical equation for (2)
(a) Addition reaction in hydrocarbons (b) Oxidation reaction of hydrocarbons

10. With the help of a cross prove that traits get segregated during gamete
formation. (2)

11. Identify ¢ a’ .and write its significance
(2)




12. (a) Light enters from air to glass having refractive index 1.50. what is the

speed of light
in the glass ? the speed of light in vaccum is 3x108 m/s
(b) Draw ray diagram showing image formation in a converging lens when the

object is at 2F. (1+2=3)

13. a) I[llustrate a soap molecule (3)
b) Distinguish between soap and detergent.

14. (a) With the help of suitable illustration explain the given concepts (5)

with reference to evolution - survival of the fittest, geographical isolation,
environmental influence.
(b) Identify the given diagram and label ‘@’ and ‘b’ . Mention and explain the
concept
shown.

Koniraot

Red cabbage
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1. Read the following passage carefully: 6

Why is it that there are few women players in our orchestras? If one could reply
flatly- sex discrimination: they don’t want women in orchestras —that would be a
definite answer. But one can’t say that. As a matter of fact there are, if not many,
a few women playing today in symphony orchestras. Nevertheless, it is true that
male orchestral players are in an overwhelming majority. Why is that? I'm afraid,
there is no one answer. There are physical reasons why women don’t perform well
on certain instruments. The average woman is not likely to possess sufficient
lung power and sheer muscular strength to play the tuba just as an average
woman’s hands are not likely to be large enough to finger a double bass
satisfactorily. But what about the other instruments? Another reason why we
have so few women orchestral musicians is that so few of them play wind
instruments well enough. They don’t play well enough because they haven’t had
the proper training; and the reason for that lies in the history of orchestral music.
You will find that famous European families of bassoon players or clarinettists
taught their sons to play their family instrument - their sons; but never their
daughters.

Answer the following questions.

(a) Sex discrimination means .

(b) Male orchestral players exist in numbers.

(c) Tuba can only be played if the player has and .

(d) Sons were always preferred in the past to the daughters to play or



(e) The word “possess” means
(f) The antonym of the word madequate from the passage is

2. You are Aman. You make the following notes after reading about the
disappearance of bird habitats from city forests and parks. Write an article in
100- 120 words stressing upon the need for bringing back the birds to the city,
taking help from the clues given below.

(Over use of pesticides in maintenance of city parks... cutting down of roadside
trees... putting up of communication towers on rooftops facing parks... leading to
an extinction of nesting grounds for birds... preservation of bird life through
manmade bird baths in home balconies... hand rearing of orphaned fledglings...
nesting areas in alcoves and groves... need for clean and green environment.) 4

3. You have been greatly impressed with the campaign launched in the country
for a cleaner India. You have been perturbed to see that despite countrywide
campaigns your neighbourhood remains unconcerned about such matters. Write
a letter in about 100 words to the editor of ‘The Hindustan Times’ pointing out
the need to join in such an effort and the long and short term benefits that would

follow from it. Sign yourself as Aman. 5
4. Fill in the blanks with appropriate words. 2
A ban (a) European imports (b) India’s Alphonso mango priced (c)

its aroma and buttery flesh, (d) drawing anger from Indians in Britain.

5. In the passage given below, one word has been omitted in each line. Write the
omitted word along with the word that comes before and the word that comes
after it. 2

According to estimates of National (a)

Ganga Authority only 1000 litres sewerage is (b)

treated daily against 3000 litres goes into (c)

the main Ganga river. A number settlements and (d)

industries located along the river, pollute it.

6. Do as directed: 2

(a) Why did you bring a stray puppy home? (Change from active to passive)
(b) She said to Rama, “Have you seen the picture before?” (Change to reported
speech)

7. Read the extract and answer the questions: 3
And now the Storm-blast came, and he
Was tyrannous and strong:



He struck with his o’ertaking wings,
And chased us south along.

(a) What poetic device has been used in the first line?
(b) What happened to the mariner’s ship?
(c) What does the word ‘tyrannous’ mean?

8. Answer the following: 6
a) What genre of stories that Jenkins want narrator to write? Why?

b) What is the ‘colossal wreck’ mentioned in the poem, Ozymandias? What does
the word ‘wreck’ tell us?

c) What does Calpurnia try to convince Caesar of?



